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If x=3,y=2 and z=4, find the values of the following algebraic expressions:

expressions

a 2x+3y b. xy-z c. X(y-2
d. X+y- 5z . X X- z
oy y+1
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i. x=16, y=6 ii. x=12, y=5
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Find the values of the following algebraic expressions by substituting the valuesin|[ 1:

substitute

1. m+n [m=5n=2] [2  4w- 3q [w=10, g=3]
3. 10a+b [a=8,b=2] |4  -x/ [x=2, y=3]
5. %(p+q-r) [p=5.q=4r=3 |> 44UV [u=3 v=5]
7. a&+bP+c? [a=1,b=2c=3] [8 (a+b+c)? [a=1b=2c=3]
9. 3x+y [x=-3,y=10] [10. 3(x+y) [x=-3,y=10]
11 (x+y) (x-y) [x=3,y=-2] |12 (x+y)(x-Y) [x=-3,y=2]
13 X'3y [x=3,y=12] |14, x—g [x=3,y=12]
15. 3&° [a=2] |16. (3a)° [a=2]
17. -%° [x=4] |18. (-X)? [x=4]
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Simplify the following algebraic expressions.

1. (3X) (5y) () | 2. (5ab)(-c) 3. (2¥) (4y) (32
=3"x" 5"y =5"a"b" (-1 ¢
=3"5"x"y =

4. (33X (-2y) (-22 5. (3 (-%) 6. chxl§a)
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index notation

1. (3a) (2bc) 2. 5(2x) (2y) 3. (-2X (-5y)

4 (-x(Cy)(-229 5. (29) (3y) 6. (1 %) (} )
23

7. () (@® 8. () (Y) 9. (20% (3p))
10. (-xy) (24 11 () (<¢Y) (v) 1 % (éxz)(gxs)
13. (2)° 14. (- oy 15. (xyY)’
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Simplify the following algebraic expressions.
1. (25xy), (30y) - 24ab? 3
8a '
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= 6bC X4 - X5
480°° (299) (3%Y) . (4x) 9. (-69)7 (3, (-9
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1. 3y (N £ 3x R 3yx £ 4y R -xy
2. ba £ 3a 1 £ 2a° £ 5ab
£ —a
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3. -2a° £ 4a° £ a £ 054 £ 2a
4. 5xyz £ 5xz £ 3yxz £ 2y £ -y
5. 4y £ 3%y £ 2xy £ 5xy £ 4yx
6. 12 £ 12x £ -5 £ 3a £ 08
7. Xz £ 3%z £ 2y%z%° £ x2y2z £ xyz
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3pg +2pq

5u- 2u

6x2- 2%°

2m- 5m

20 57 3=3+3+3+3+3=15

=—at+a+a+a+a, 3a=3" a=

(a+ta+at+ta+a)+( )

37 (pa) +27 (pa)
(Pa+pg+pg)+(___ )

(utu+u+u+u)- (u+tu)

(XZ2+ X+ X2+ +Xx2+X) - (C+X0)

(Mm+m)- (Mm+m+m+m+m)



- 5% SLREFS B/ 1 13

f FETK IRt

1. 3x+4x 2. 3y+dy 3. 3ab+4ab

4. Bx+X 5. 5C+X 6. 5ab+ba

7. 6x- 5x 8. 7ab- 3ab 9. 8y’- 4y

10. 6p+3p+4p 11. 3y+6y- by 12, 11x-13x+4X

13. 2r% + 4r° —5r° 14. 4w+ 11w + (- 13w) 15. - ax + 5ax - 2ax

2 -
16. Lx+1x 17. a2- & 18- 3x- 4
2" 3 3

19. 2b- 7b 20. -2xy- 5xy 21. 3ab’- 5ab’- 2ab’
Goodl
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1. 3a+2a+4b+5b 2. 2p+5q+4p-2q

3. 2¢+3x-3-3¢-2x-5 4.  2x+ 6xy—5x + 13Xy
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Simplify the following algebraic expressions.

1. 4n+6n-7m+1lm 2. 8a-3b-7a+4b

3. 4a+9+6a- 11 4. -2x+5y+8x- 3y

5. 24x+ 23y—17x— 15y 6. 3a+2b—-3c+7a-4b
7. 2a-3b-1la+5b+9a-7 8 9xy—-6-5xy—7+8xy
9. 5nf—-3m-4mf—7m-2n’-5 10. 3C-2¢-9- (-X)+6
11. x- y- §x+y 12. §+%§+%

% Good
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+(a+hb)=+a+b +(@-by=+a-b - (@tb)=-a-b -(@a-b=-a+b
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1. (2x+3y)+ (5x + 2y) 2.

(3x+5)+(9- 5%)

3. (3a- 5b)- (2a+ 3b) 4. 3a- (4- 2a)

5. (2a+3b)- (a- b- 2

o

(¢ +2x- 9)- (¢ +5x- 2)




- 5% | SLREFS B/ F1 16

Sl g 4 2.21

LA S
1. 4a+(9+2a 2. (2x+3y) + (4y +2x)
3. (4p- 7q) + (6p + 30) 4., (lla+b- 2c)+(6a- 2b- ¢)
5. (2¢- 3x+2)+(7X°- 6x- 9) 6. (12r- 7s) - (21r + 149
7. (3¢ +4)- (2¢- 5%) 8. (22k- 9n+17m)- (18m+ 15k - 4n)
9. (2x- 8 +((3x-9- (x-1) 10. (3x+4y)- (5x- 2+ (y- 2
BB,
i 2.2b,
11. 7x+[3x- (4+2X)] 12. 5p+[(3p+2q) - (2p+ )] . i} 2.3.
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Fepk ST The distributive law
a(x+y)= ax+ay a(x-y)=ax- by
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1. 4(x+2y) 2. 3(5- 3a) 3. a(x+2y)

4. 3b(x+2y) 5. 3x(1+2x- X9 6. (-2a)(2a*- 3a+1)
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ol ﬁljlfﬁ g7=" @ (Expand the following algebraic expressions:)

1. 4(3x+2y) 2. 5(3x+2)

3. 2a(3+4b) 4. 3x(2x+59)

5. -2(2a+3b%) 6. - (2a+3p)
7. 3(2x- 3y- 5) 8 2a(-b+3)

9. -3x(x- 5) 10. 3a(2a- b+4)

11. (x- 3y)(-6%)

12. 5x (23 - 3x+4)

13. (- 4x)(2° + 3x- 1)

12. Eab?- 2a0%¢ ab
3
e g2

:} p A
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1. 5(x + 3y) + 2(2x - y)

3x(x- 5)+ 2 (2x- 3)

3. 3(3x+2y) - (2x+ 5y)

6(a+3b) - 2(2a+b)

5. 2(3x- 2y+2 - 4x+2

Xy (2¢ - xy) - X (y* + 2X)

1 3(x + 2y) + 5(x - 4y)

2(a+5h) +3(2b- ¢)

3. -(a+2p)+2(a- 3

2X (x+3) +3(2x- 2)

5. 6(@a+2b- c)+3(5a+2c)

3(5x+2y)- 2 (4x+ 3y)

7. 203+ 2¢+1)- 3x(2¢- 5X)

-2x(3x+1)- 3(4x- 5)

> Good

[



